
Variant	1	=	Wettelijke	verdeling	-	gelijke	erfdelen	/	rente	0%
Variant	2	=	Wettelijke	verdeling	-	gelijke	erfdelen	/	rente	6%	enkelvoudig
Variant	3	=	Wettelijke	verdeling	-	gelijke	erfdelen	/	rente	6%	samengesteld
Variant	4	=	Wettelijke	verdeling	-	1/100ste	erfdeel	partner	/	rente	6%	samengesteld	/	opvullegaat
Variant	5	=	Tweetrapstestament
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Verschuldigde	erfbelasting	(tarieven:	2017)
De	heer	Test	overlijdt	als	eerste

Verschuldigde	erfbelasting	bij	het	overlijden	van	de	heer	Test
Totaal	verschuldigde	erfbelasting	na	het	overlijden	van	zowel	de	heer	Test	als	mevrouw	Test-Voorbeeld
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